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Mon 21st  N-S
1st
Tomas & Dave C
61%
2nd
Donal & Ursula
57%

E-W
1st
Lars B & Bengt M
59%
2nd
Per And... & Dave H
58%

Wed 23rd
N-S
1st
Lars B & Tomas
57%
2nd
Dino & Marlin
54%

E-W
1st
Paul Sc & Guttorm
56%
2nd
Janne & Jan 
55%

Fri 25th   

1st
Lars B & Bengt D
65%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
(a) What do you open with Hand A? 
(b) What do you open if playing Acol?

♠ AKJ10
♠ A98
(c) What do you open if playing Benjamin twos?
♥ KQ53
♥ 73
 
♦ KQ54
♦ KQ108
With Hand B you open 1♣ (or 1♦ if you are that way inclined).
♣ Q
♣ KJ75
Partner bids 1♠, what is your rebid?
Hand C
Hand D
What do you open in 1st seat, vulnerable, with Hand C?
♠ 9

♠ KJ42
(a) What do you open in 1st or 2nd  seat, vulnerable, with Hand D?
♥ 10832
♥ AJ9
(b) What do you open in 3rd seat, vulnerable, with Hand D?
♦ AK65
♦ Q74 
(c) What do you open in 4th seat, vulnerable, with Hand D?
♣ KQ96
♣ J84
Hand E
Hand F
With Hand E partner opens 1♦, what do you bid?
♠ A104
♠ AQJ
With Hand F RHO opens: -


♥ AK6
♥ AK6
(a)
2♦, what do you bid?

♦ 974
♦ KJ6
(b)
3♦, what do you bid?




♣ K654
♣ J965

Bidding Sequence Quiz

G
1♥
pass
2♦
pass

2♠ is a reverse, but does it show extra values after a 

2♠




two-level response?
H
1♦
pass
2NT


What does 2NT show?
J
1♦
pass
3NT


What does 3NT show?

Worth an opening?




Board 13 from Friday 25th March
Dealer:
♠ 9



Table A
North
♥ 10832

West

North(C)
East

South(D)
Love all 
♦ AK65

-

pass
(1)
pass

pass
(2)

♣ KQ96


pass
♠ 1065

N
♠ AQ873

Table B
♥ KQ54
W
E
♥ 76

West
North(C)
East

South(D)
♦ 1083
S

♦ J92

-

1♣
(1)
pass

1♠
♣ A73


♣ 1052


pass

1NT
(3)
pass

2NT
(4)

♠ KJ42

 
all pass
♥ AJ9





♦ Q74


♣ J84


Table A:
(1)
What did you open with this North hand C in this week’s quiz? I know that some of our top players do not like to open in first seat with a poor 12 count, and I agree. But I do not consider this a poor 12, it complies with the rule of 20 and has a decent rebid if you open 1♣.
(2)  What did you open with this South hand D in this week’s quiz? I would not open this hand in 1st or 2nd seat (only 19 for the rule of 20 and four quacks), but anything goes in 3rd seat and I would open 1♣.
Table B:
(1)
With hand C I much prefer this opening of 1♣ to 1♦ with this shape. You never have a rebid problem. If you open 1♦ you may miss a ♣ fit and if you rebid 2♣ over 1NT or 1♠ then that is a distortion as partner will assume 5+ ♦’s.
(3) Clearly the best rebid.
(4) This is a poor 12 count (4333) and 2NT (11 - poor 12 balanced) here is spot on.
And what happened? Two bid to 3NT, which makes due to the fortunate lie of the cards. 2NT made +1 twice and pass out scored poorly for N-S.
The bottom lines:

· I personally like the rule of 20 for 1st / 2nd seat openers, specifically when the points are not in short suits.
· Light openers in 3rd seat are fine.
Dave’s Column
West
East


West
North

East

South
♠ QJ10764
♠ A98

-

-

1♦

pass
♥ K85
♥ 73
1♠


pass

2♠

pass
♦ AJ7
♦ KQ108
4♠

all pass
♣ 3
♣ KJ75
 

You are West, declarer in 4♠. North leads the ♣2, plan the play.

Dave’s Column Answer




Board 18 from Wednesday 23rd March
Dealer:
♠ K53



Book Bidding
East
♥ AQ62

West

North
East(B)
South
N-S vul 
♦ 653

-


-

1♦
(1)
pass

♣ Q82


1♠

pass

2♠
(2)
pass
4♠

all pass
♠ QJ10764
N
♠ A98


♥ K85
W
E
♥ 73
(1)
I (Terry) would open 1♣
♦ AJ7
S
♦ KQ108
(2)
What did you rebid with this East hand B

♣ 3



♣ KJ75
in this week’s quiz? This 2♠ bid is from the 

♠ 2

 
book; so it’s not just me, Janne, Hans and 
♥ J1094


Paul Q who support with just three cards with 
♦ 942
 

this sort of hand.
♣ A10964
North leads the ♣2, plan the play.

Without a ♣ lead, declarer has time to pick up trumps and win six trump tricks and four ♦’s.
Against the lead of the ♣2, most declarer’s inserted an “automatic” ♣J from dummy. South took his ♣A and switched to the ♥J and three rounds of ♥’s forced dummy to ruff. With dummy reduced to only two trumps, West could no longer pick up North’s ♠K and the defenders took four tricks.
What did the successful declarer do differently at trick one? He realized that inserting dummy’s ♣J offered no advantage as South was bound to win and shift to ♥’s. So he cleverly played low from dummy at trick one! South took his ♣A, but what was he to think? “Obviously” it was North who had the singleton ♣2 and West who had ♣Q83. Accordingly, South returned a ♣ at trick two, expecting North to ruff. Curtains! West discarded two ♥’s on the ♣KJ and when the trump finesse won he emerged with two overtricks!
And what happened at the Pattaya bridge club? 4♠+1 twice, 4♠= three times, 4♠-1.
Dave’s  2nd Column



North
South
West

North
East

South

♠ A10
♠ Q6
-


1♦

pass

1♥


♥ -
♥ AKQJ109
1♠
2♣


pass

3♥


♦ AKQJ107
♦ 63
pass

3NT

all pass
♣ 109543
♣ 872

You are North, declarer in 3NT. East leads the ♠3, plan the play. 

Dave’s 2nd Column Answer

Board 21 from Wednesday 23rd March
Dealer:
♠ A10



Book bidding
North
♥ -

West

North
East

South
N-S vul 
♦ AKQJ107

-


1♦

pass

1♥

♣ 109543


1♠

2♣

pass

3♥


pass

3NT

all pass

♠ J97542
N
♠ K83


♥ 73
W
E
♥ 86542


♦ 9
S
♦ 9542

♣ AKJ6


♣ Q



♠ Q6



♥ AKQJ109

 East leads the ♠3, plan the play.

 

♦ 63
 




♣ 872




With West bidding ♠’s, you would tend to credit him with the ♠K. The normal play would be to play low from dummy hoping that East has the ♠J and West the ♠K. This play would give declarer two ♠ tricks if East did have the ♠J.
But declarer does not want two ♠ tricks, he wants six ♥ tricks. Declarer cannot get to dummy in ♥’s and so the only way to have a chance to get there is to play the ♠Q. Against all odds the ♠Q wins and declarer makes all 13 tricks.

And what happened at the Pattaya bridge club? All sort of results including: 3NT*+4, 3NT+2 and 3NT-2.
Overcalling NT when they pre-empt

Board 24 from Friday 25th March
Dealer:
♠ AQJ



Table A
West
♥ AK6

West

North(F)
East

South
Love all 
♦ KJ6

2♦

dbl
(1)
pass

2♠

♣ J965


pass

2NT
(2)
pass

pass
(3)
pass
♠ K

N
♠ 108653


♥ 742
W
E
♥ Q1093

Table B
♦ AQ10874
S

♦ 2

West
North(F)
East

South
♣ 1042


♣ AQ3


3♦
(4)
dbl
(5)
pass

3♠

♠ 9742

 
pass


4♠
(6)
dbl

all pass
♥ J85





♦ 953


♣ K87



Table A:
(1)
What did you bid with this North hand F(a) in this week’s quiz? This is fairly easy, double and then bid NoTrumps to show a good NT overcall. If you play a 2NT bid here as being this strong then that is fine of course.
(2) So showing a hand about this strong with ♦ stops.
(3) Probably not quite good enough to raise to 3NT.
Table B:
(4)
This West chose to open 3♦, maybe he plays an opening 2♦ as something else?
(5)
What did you bid with this North hand F(b) in this week’s quiz? It’s not so easy over 3♦ and this North decided to double. I would simply grab the bull by the horns and bid 3NT, Paul Q agrees but one of the club’s top players said to double (and then pass a non +ve response).
(6)
Showing the extra values, but it’s not a good spot.

And what happened? One pair bid 3NT and three made 9 or more tricks in NoTrumps. 4♠* went minus three and a 1♣ opening by North was passed out.
The bottom lines:

· Do not double if a NoTrump overcall is a better alternative.
· It’s fine to open a weak three with just a 6-card suit if you like, and I often do in the minors with a decent suit.

Hand A:
This is East hand 20 from Monday, my answers are:
(a) 2NT. This sort of hand is exactly why it is allowed to open 2NT with a singleton – open 1 of a suit and it’s likely to get passed out when you may easily have game. If you don’t like 2NT, then open 1♦.
(b) 2NT, as above, but if you don’t like 2NT then open 1♥.

(c) 2NT. Or 1♦ or 1♥ as in (1) & (2) above. The hand is not good enough for a Benjamin 2♣ followed by a suit bid as it does not have a suit and does not have 8 playing tricks.

Hand B:
2♠. With a dodgy ♥ suit this is far better than 1NT. This two-level raise does not guarantee four card support.
Hand C:
1♣. You never have a rebid problem. If you open 1♦ you may miss a ♣ fit and if you rebid 2♣ over 1NT or 1♠ then that is a distortion as partner will assume 5+ ♦’s.
Hand D:
(a)
In 1st or 2nd, pass. It is a miserable hand that does not conform to the rule of 20.
(b) 1♣. It’s not worth an opening in 1st or 2nd seat, but it’s your duty to make a noise in 3rd seat.

(c) 1♣. In 4th seat the ♠ suit is all important and this hand is 16 for the rule of 15, so a clear opener even if you deduct a point for the 4333 shape.

Hand E:
3NT, this is a perfect example of this very specific bid, which is usually played as a balanced 13-15 with no 4-card major. 

Hand F:
(a)
dbl, and then bid NoTrumps. 2NT is the alternative if you play it this strong.
(b)
3NT. It’s not so easy over a 3♦ opening but I can see no point in doubling, so I simply bid 3NT and hope.

Bidding Sequence Quiz

G
1♥
pass
2♦
pass

This is up to you and most play that it does show reversing 


2♠




values. That is certainly the case in Acol but some 2/1 players do play that it just shows shape as the sequence is already game forcing.

H
1♦
pass
2NT


2NT here is usually played as 11-12, although it is a well known ‘problem’ in SAYC where it shows 13-15.

J
1♦
pass
3NT


2NT here is usually played as 13-15. No 4-card major. 
Current club championship standings

Congratulations to Lars Broman for getting the triple this week, with three different partners.
	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	
	637.9 Per Andersson
628.5 Hans Vikman
618.4 Janne Roos
614.7 Lars Broman
610.8 Paul Quodomine
600.0 Bob Short
596.5 Tomas Wikman
591.1 Paul Scully
591.1 Bengt Malmgren
589.4 Sean Burgess
	332.2 Per Andersson
326.2 Hans Vikman
317.6 Janne Roos
317.6 Lars Broman
314.5 Bob Short
313.8 Paul Quodomine
310.9 Bengt Malmgren
309.7 Jeremy Watson
309.6 Paul Scully
308.3 Sean Burgess
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